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The calculation we are about to do involves a lot of letters.
It takes time to do it accurately. However, the steps are just
what we use when zeta and omega are specific numbers:
1) Undetermined coefficients and 2) conversion of the
solution to polar (frequency,amplitude, phase) form.
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| won't ask you to derive or memorize this
formula, but | might give you the formula below
and expect you to use it to answer questions
like (3) and (4) on the last page.
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This is what makes (over the air) radios work. The antenna receives
many transmissions from many different stations, each with its own
distinct frequency. By turning a dial (nowadays its a digitally assisted
dial), you adjust the natural frequency ( in our example the natural
frequency is omega=1). The response to the signal from the station
nearest the natural frequency is magnified, and the reponse to the
stations with frequencies far from the natural frequency is
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